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INDIAN ECONOMY, GLOBALIZATION AND SUSTAINABLE
DEVELOPMENT
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Full Marks : 200 Time : 3 Hours
quifes : 200 Tva : 3 Ee

Instructions : The question paper consists of five Section. Each Section
carrying 40 marks. Section — I is compulsory and contains
twenty objective questions. Each carrying two marks
(20%2=40). Sections — II to V contain two optional long
descriptive questions each. The candidate is required to

answer one question from each Section.

fidor : 597 47 ure @Uel 4 v 8 | Y T 40 3wl w1 e | e -1
sfiart &, Rrad -3t 3@l & 20 TGS T & (20%2=40) |
Gus — I8 V & 9% @ve & ai-gt dehfcus <id I 997 8 |

gfenRfa &) e @Ue H 8 Uk I ST g 8 |
Marks

L

SECTION -1
wusg -1

1. RBI can restrict credit creation by Commercial Banks by
I) Increasing bank rate
IT) Selling government securities to banks
ITI) Reducing cash reserve requirements
IV) Rediscounting more bills

Choose the correct answer from the options below :
(a) TandII (b) II and III
(c) III and IV (d) ITand IV
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R st sieh SATaTieh siehi g1 9@ g 5 e SO g FEfa o gerar 2 =
I) sfeh & G L
IT) sieht sht TRERRI Hfcreferai el srereht

I11) € I AT hl T2 T
IV) =ftren forcti a1 qeiar

fefaRaa fomred o @ ot ST
(a) I3II (b) 1I 3R III
(c) III 3R IV ) 13RIV

2. Inflation is due to
(a) Demand for higher incomes

(b) Rising demand not accompanied by rising supply
(c) Structural imbalances in the economy
(d) All of the above

Trehif 1 RoT §
(a) 3= 3119 & A1
(b) | giE & T gl gfs 1 7 g0
(c) AT H HTEHTCHS ST
(d) S a+ft
3. What among the following forms the largest components of GDP in India ?
(a) Consumption expenditure (b) Investment expenditure
(c) Export (d) Import
R H T el 31 1 fefeifad 3 @ o9 gag ag1 3 g ?
(a) SUHIT =H (b) fafea =
(c) Frata (d) 7T

Which item among the following is not included in the current account of
balance of payments ?

(a) Export and import of goods

(b) Export and import of services
(¢c) Transfer payments

(d) Net borrowing from abroad
FreTfctfiaa 5 & e 2 T S % e @ § wnfier 7@ e @ 7
() gl T Ut e (b) darat 1 P T ST o

(c) T JITdH (d) fRei & g= A
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5. Narsimham Committee — I was appointed for
(a) Agricultural sector reform (b) Industrial sector reform

(c) Insurance sector reform (d) Banking sector reform
TR afify — 1 i PR e R R e o ?

(a) T &5 % Gur &g (b) Sreifireh &1 % G oY

(c) sfim &3 & FUR ¥g (d) Sfer & 7 g g

6. Which of the following is not considered as a national debt ?
(a) LIC Policies (b) Long term government bonds

(c) Provident Fund (d) National Saving Certificates

e o @ R0 Tl w7 THEn ST §
(a) ST sfaT diferet (b) A TR S8
(c) wfersa fAfer (d) g Frerd o

7. Capital formation denotes
(a) Flow of expenditure devoted to increase the capital stock

(b) Net addition to capital stock after depreciation
(c) Production exceeding demand

(d) Expenditure on Physical assets only

eft famfor gt @
(a) Toft 3 weieh & gf ¥g forrm a1 = A
@)r{eﬁ%mﬁﬁwm%ﬁaﬁwq@
(c) I T JeqTe T ATt
(d)aaasﬂﬁwﬁamﬁqtﬁmwm

stimated average rate of domestic saving in India currently is in the range of
(b) 20 to 25%

(d) None of these

8. Thee
(a) 15 to 20%

(c) 25 to 30%

aﬁnﬂﬁmﬁaﬁaﬂaaﬁmﬁmﬂwa%
(a) 159 20% (b) 20 & 25%
() 25 ¥ 30% (d) 7 q S 7
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9. Towards faster and more inclusive growth” was the goal of
(a) 9* Five Year Plan (b) 10* Five Year Plan
(c) 11* Five Year Plan (d) None of these
“ e @ srftrer T s 6 o e A @ o A o e o ?
OEEIRECHERISC OESEIRECHRR IS
(c) ™Res! yuaty deEr (d) T & S T
10. What was the rank of India in HDI among 188 nations of the world in the year
2016 ?
(a) 130 (b) 131
(c) 132 (d) 133
9 2016 # HDL farva 3 188 297l oh ofter S o1 € o271 241 ¢
(a) 130 (b) 131
(c) 132 (d) 133
11. Sustainable economic development depends on
(@) Investment, not saving (b) Saving, not investment
(c) Both saving and investment (d) Neither saving nor investment
Taq e faewm fft s ®
() Taw, 7 & s (b) ==, 7 T Fw
(c) ¥9a w& e gHt (d) 7 5@ T e
12, At present 100% FDI is not allowed in
(a) Defence (b) Drugs and Pharmaceuticals
(c) Banks (d) Insurance
FAE | 100% oot faesht fafm (FDD) A srmfa fra g A =i 2 7
(a) M (b) et
(c) i (d) s
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13. Which one of the following gets maximum share in the total subsidy given by
Central Government of India ?

(a) Food subsidy (b) Fertiliser subsidy
(¢) Export subsidy (d) Petroleum subsidy
WIRA <h1 751 TR G Vo el 31gar & f 3 @ e femn arfrehem & 2
(a) T TIEH (b) @ IS
(o) rafa argem (d) UifcTEH ITgTH
14. In the last decade which sector has attracted the highest FDI in India ?
(a) Fertiliser (b) Insurance
(¢) Telecommunication (d) Food Processing
o <y A 771 4 ¥ forw &3 & gaifos FDI wra ® e g ?
(a) @me (b) ftam '
(©) WEER () Wl TSR

15, According to new series of national income, released by the CSO at
2011-12 prices, the share of agriculture in total GDP in 2013-14 was
(a) 12% (b) 15%
(c) 18% (d) None of these

CSO RISl fohT 7T T 3T o ¢ 3TTehei < FFAR 2011-12 1 Hivfd W Fw GDP F Ffy
=1 fewan 2013-14 A o1 ?

(@) 12% (®) 15%
© 18% (d) 378 F 1S 7

16. Globalisation of Indian economy means
(a) Establishing business units aboard
(b) Giving up programmes of import substitutions

(¢) Having minimum possible restriction on economic relation with other
nations

(d) Stepping up external borrowing

WY SAeferaee & yHeciien & 31 3

(a) TocsT & suaEfies Teanrgal €T e

(b) TITd WioRATa & HrishH o1 IR

(c) 27 <l o gy 3Tffer Gey W =Faw 9T sy v
(d) feoresft swor  gfg e

E27SM6 P.T.O.
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17. What is the main basis of economy of Jharkhand ?

(a) Agriculture (b) Industry

(d) Transfer

(¢) Mining
RS i HAefoTeET 1 G SER F1E ¢

(2) T (b) F@m
(c) T (d) ufew

18. In 10% Five Year Plan, how much money had been allocated to Jharkhand State
by Planning Commission ?

(a) Rs. 14,632 crore (b) Rs. 24,850 croz"e

(¢)’ Rs. 20,480 crore (d) None of these
10 ff Garanffa g 3 Sria FISHT ST ST AR@UE Tsd i bt TR afed ot s ot 7
(a) ¥ 14,632 % (b) ?. 24,850 Fg

(c) %. 20,480 FS (d) 379 8 &1 T

19. From the view point of population, what is the rank of Jharkhand among
Indian States ?

(@) 11 (b) 12
(c) 13® (d) None of these
SEET & R & YIS T41 o HEd FRGUE i TH HF A1 7
(2) 117ar (b) 124t
() 137 (d) ¥ & I TR
20. Which of the following area has the maximum forest cover in Jharkhand ?
(a) Chatra (b) Hazaribagh
(c) Ghatshila (d) Ranchi
grEvs # = § S a1 &9 Faifie sresred § ¢
(a) =T (b) TIeTT
(c) Hrefre (d) T=h

E27SM6
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SECTION —1II T
g - I

Discuss in detail recent changes in composition and direction of India’s foreign trade.
e € i v Rkt s o sicer e e g o i e = |
OR /ateat
Discuss in detail the impact of W.T.0. on Indian agriculture.
TR i I foree SR S o Weie =51 fersga fereram o |

SECTION — III
wug - III

Discuss various provisions in latest National Food Security Act. Show that the Act
may reduce insecurity among low income people.

JAUH T G e At & fafi= saemi =1 vl e | e & 78 aAfiEm
Tt 31T ol <6l T STERETT Rl FH FA H HEEEH B |

OR /31gan
How ‘inclusion’ is measured ? Do Indian data show economic inclusion in
employment and primary/secondary education ?

TS <h1 S TGN ST & ¢ T IR STeRe TSR Td Snerfiven /wneaives fen 3 gu 2nfds
UM I G & 7

SECTION -1V
@ug - IV

In the light of the parameters used for assessing economic reforms, critically examine its
impact on Indian economy.

aTT3fer Gl % Hedtsh o foTT Y H19gUel ! €A H Tad §U W Siedfeaedn |
T YAl =l ST T THia i |

OR /3=t
Examine the defects of agricultural marketing in India. What steps are being taken
by the govt. to remove them ?

T § I I 2 ST Al wien T | 38eh FEF % forg TR g SH-F & e
IPUSEE ?
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SECTION -V
@ug - V

Discuss the present industrial policy of Jharkhand Government. Examine the steps
undertaken by the govt. to promote industrial development.

TEvE T Y ST i Af o e AN | At e i aemen 3

¥ fTu, IR SR 31T 1Y shedl ht gHiE sHifsg |

OR /atean
Discuss the causes of poor performance of agricultural sector in Jharkhand. Suggest

measures for achieving a high growth rate of agricultural production and productivity.

AREUS 3 S & % W 12 - T&34 & HROI 6l THIET ST | H Ieqre T Sedreeh]
ol I=a Ife & 9T F o T gara < |
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